
DragonFire

 DragonFire Racing 
3191 N. Washington St. Suite 2 
Chandler, AZ 85225 
1 (800) 708-9803 
WWW.DRAGONFIRERACING.COM  

Harness Bar for Arctic Cat WildCat Trail and Sport
Part # 14-3700      WildCat Trail & Sport      Black

Congratulations on the purchase of the DragonFire Harness Bar for Arctic Cat WildCat Trail and Sport models. Properly installed 
harnesses greatly improve the enjoyment of all recreational rides by allowing everyone in the vehicle to focus on their surroundings, 

instead of holding themselves upright. DragonFire takes pride in designing a harness bar optimized for maximum comfort and security 
so you can pay attention to the things that matter most, the adventure at hand. Be sure to check out the full line of DragonFire

accessories for your Arctic Cat vehicle at your local authorized dealer or online at http://www.DragonFireRacing.com

Factory seat belt retractor must be removed to install this harness bar.

Disclaimer
Off road activities can be hazardous and could lead to injury, dismemberment, paralysis and death. No warranty 
of representation is made as to the products ability to protect the user from any injury or death. The user assumes 
that risk. The acceptance and /or use of this merchandise purchased from DragonFire by the customer hereby 
shall release DragonFire from any and all liability pertaining to the use of such merchandise.

Step 1: Place vehicle on a flat and level surface. Place gear selector in “Park” and remove keys from the ignition.

Step 2: Remove both driver and passenger seats from the vehicle and set aside to be reinstalled later. (Figure A)

Step 3: Remove factory seat belts from vehicle and discard. Retractor fastener is located under the rear fender. Buckle fasteners are located	
	 under the removable center console service panel, located on the rear portion of the console. (Figure B)

Step 4: Locate supplied hardware and place one large diameter washer on each bolt. (Figure C)

•  Read and understand these instructions before installing product
•  Do not use product if there are any signs of damage
•  Injury can result from rollover, use this product with caution
•  If rollover occurs, inspect for damage and replace if necessary

Tools Required
16mm Socket or Wrench
18mm Socket or Wrench
5/8” Socket and Wrench
Ratchet



DragonFire

Step 5: Place harness bar in vehicle with harness loops on the top side. (Figure D)

Step 6: Secure the Harness Bar by inserting the supplied bolt with washer into the mounting bracket hole. (Figure E) Place supplied small		
	 diameter washer on the back side of the bolt and install the supplied lock nut. 

Note: Slot is not used for mounting hardware.

Step 7: Torque hardware to 78 ft-lbs.

Step 8: Install 4 or 5 point harnesses per the harness manufacturer’s instructions and reinstall seats.

Step 9: This completes installation. Time to ride and enjoy!

ProTip: Periodically check all hardware and re-tighten if needed.

For further assistance, please contact your authorized DragonFire dealer.

Hardware List
QTY SIZE LENGTH TYPE STEP USED

2 7/16” 1” Hex Head Bolt - Grade 8 4 & 6
2 7/16” - USS Flat Washer (Large) 4 & 6
2 7/16” - SAE Flat Washer (Small) 6
2 7/16” - Nylon Lock Nut - Grade 8 6


